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M. Phil.Entrance Test - 2013

No. of Questions : 60
ugAl & &l @ 60

Time : 1 Hour Full Marks : 180

ag ;1 "Ua gurieh : 180

Note: Each question carrics 3 marks. One mark will be deducted for each

incorrect answer,

gerEr U @ S 1 B we® Ted g7 & e uF ofF el
SFTQIT |

(1)

{2)

(3}

Fach qguestion is {ollowed by FOUR alternative answers. Only
ONE of these answers is correcl. Select the correct answer and
indicate it in the appropriate circle on OMR Answer Sheet
provided. by darkening the circle, using Ball Point Pen.

UETE 999 & 91T JRETE 39 Y TE E 1 3H  ddd U 3T
FEr & g gHa aar 39 6 W JERYH & ardieE et #
qrel @R U W BeN HYE S0 BT |

Atternpt all guestions from 8. Ne. 1 1o 40.

H9 EE 19 40 a% |l HeHl B HRAT E

01.,11. of three sets of questions on languages (41 to 50 Hindi, 51
to 60 Sanskrit and 61 to 70 English). attempt only two sects.
Thus, a candidate is required to answer in all 60 {Sixty) guestons
only.

e Tt B s (417 50 BT, 51 60 WEEE A1 617 70
) o et ar wiwrell % 9w # Ba HRA B 38 9%
el A FE 60 UeH & AL E F

3 P.T.O.
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01,

02.

03.

04,

05.

Amongst the following sets of letters which one is different from other
three sets ?

maﬁ%ﬁmﬁf@agmﬁﬁﬁﬂwamrﬁﬁ?ﬁﬁm%?
(1) ACEG (2) BDFHJ  (3) LJNPR (4) SUWYA

Fill up the blanks from one of the following four sets of letters,

&aﬁ%ﬁwﬁ@amgﬂﬁﬁﬁaﬂwqﬁgﬁﬁﬁﬂm
¢ - bba~cab-ac~ab- ac

{1} b.c,a,¢,b (2} b,c, b,

(3) a,b, ¢, b, (4) a,c,b,c, b

Which onc of the following pair of numbers does not belong te the
group of other three pairs for look of Cammon property ?

ey degelf & 8 § § A U, qE=g o F s
H, oF A S & oae @ b a8t D o
(1) 141 -158 (2) 98- 85
(3) 171-184 (4) 66 - 54

If DEAR is coded as FGCT, how READ will he coded ?

i< DEAR 1 Fzamr & FGCT Rrar s & 8@t READ e}
BT H e fordst 2

(1) FGCT (2) TGFC (3) TCGF (4) TGCT

In a certain code 'bi nie pie’ means 'some good jokes'; 'nie bat lik'
means 'some real stories': and ‘pie lik tol' means ‘many good storics'
Which code means ‘jokes' ?

(1) nie (2) pie
(3) bi (4) None of these



06.

07.

08.

M.Phil,/13/TEST-A

el e EEHT F bi nie pie’ H AL T HH A= T 'nie bat
lik @1 e B mm G HAE. ae pie lik wl B AL B AT
sresdt Uy | R T Had wl wd B ©

(1) nie (2) pie

(3) b (4) =9 QA HF TS

In which of the following pair of words, there is similar relationship
as it is between CLOTH : TEXTURE ?

Frefafae st & oAl o 4 Fred odt ey 8, 5 CLOTH :
TEXTURE % &g & ?

(1} WOOL : MILK (2) WOOD : GRAIN
(3) BOOK : TEXT (4) PAPER: PEN

In an objective test correct answer scores 4 marks and on wrong answer
2 marks are deducted. A student scored 480 marks from 150
questions. How many answers of the student were correct ?

frefl aegfores dmor B adl @Y @ R 4 ol ed €, aa
T ST X9 9T 2 3 Hed 8 U el 150 99A # 480 37
qret AT o) et & R I wel A v

(1} 110 (2) 120 (3) 130 (4) 140

The temple is 1 km. away from the Post Office in north. The Bank is
in East of the Post Office. School is 1 km. away in South from the
Bank. In which direction from the Post Office the school is located ?

(1) East (2) West-North (3) North (4) South

nftey, Gre-snied O Fa faem ® 1 fEdo @ gl 9 B &,
Grez-aTftse & O f2em § B &g, dw @ aferr @ enY 1 feHio
B ot ov ¥ ire-enihe @ wpa few Rem § ferd & 7

(1) w@ 2y qreEH-IET
(3) I¥ (4) &faToT

3 P.T.0.
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09. Sixpersons A, B,C, D, E and F are standing in a circle. B is between

10.

1L

12.

D and C; A is between E and C; F is to the right of D. Who is between
Aand F ?

B: AT A.B,C,D,E T FUF gk § @2 1 B, D a0 C
A B A K T CF Aim Y F,D & afeeh awe @er B A
AT F & frg e & ?

(1) B 2 © (3) D - 4) E

What is the ratio between the volumes of a cylinder and a cone of the
same heighi and base ?

HH FHEE auT AN I UF B quT faevet & onaes 3
e A ST B 7

(1) 3:1 (2) 1:2 3) 1:4 (4) 2:1

If the polynomial p(x) = ax® + bx - 1 is divisible by the polynomial

q(x) = x* + bx + 1 then a is equal to :

ﬁ%@’gcﬁ p(x} = ax3 + bx - 1 JEqT qix) = x*+ bx + 1 @ fa9rg &
A oa AT E

(M (2 V3 (3) 22 (4) O

Ifx=1isa commen root of the quadratic equations 2 ax? + ax + 3 = 0

and x* + x + 2b = 0 then the relation between a and b is :

AR x = 1 Faereia &efievolt 2 ax? +ax + 3 =03 w2 +x+2b =0
FIFAT g A a v b F wae ¥

(1) a=b (2) a=

3| =

W

@ a= (4) a=-



13.

14.

15.

16.
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[f the perameter of a circle is equal to that of a square then the ratio
of their areas is :
ﬂﬂcﬂﬁ e
(1) 4:n (2) 2:n (3) t:m 4y 4:m

The distance between two cities A and B is 330 km. A train starts
from A at 8 am. and travel towards B at 60 km./hr. Another train
starts from B al 9 am. and travels towards A at 75 km./hr. At what
time will they meet ?

& e A ST B & gt 330 feiiflex B, wh 2 A H gIE 8
ﬁﬁBﬁWinWﬂ%Wﬂ%Tﬁ@ﬂﬁ?ﬁ%@ﬁaﬁ
BngaﬁriﬁzAfﬁﬁm%WﬁHwﬁdﬂzﬁﬂﬁfﬁ
o B, g aem Al 29 oty H feerny

(1) 10:30 AM (2) 11:00 AM

(3) 11:30AM (4) 10:45AM

If m and n whole numbers and m" = 196, what is the value of
(m - 3 2

af m o n getss B AT me = 196 &1 (m - 3)0NERT A F
grr 7

(1) 2744 (2) 1 (3) 121 (4) 1331

The ratio of milk and wateris2:lina mixture of 60 liters. If the ratio
of milk and water is to be 1 : 2, then amount of water in liters to be
further added 1s :

60 ditzv & ferr & gu of Wl @ e 218, faser 7w
T gt @7 AT U T B R e ST grer dre
qEn dvew # A

(1) 40 (2) 50 (3) 60 (4) 80

7 P.T.O.
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17.

18,

19,

20.

21.

A election between two candidate A and B. A got 65% of total votes
cast and won the election by 2748 votes. If no vote is declared invalid,
then total number of votes cast is :

AR B & d gama gan maﬁrﬂuﬁ T H 65% T
Frem ofit 9 2748 =df @ gom qATOET & FH
aﬁéwaﬂaﬁf&aﬁgma‘rwﬁv@qﬁaﬁﬁw%l
(1) 9000 (2) 10,000 (3) 9100 (4) 9160

Five years ago. A was thrice as old as B and ten years latter A shall be
twice as old as B. Then present age of A is :

(1} 80 years (2) 40 years (3) 30 years (4) 25 years
S5q¢ 9BT A W WY B B oy #H éﬁﬁaﬁaﬁ?loﬁmfaaﬂ
Mg B & A A T & | T A B FEHE 3 R

{1) 50 T4 (2) 40 g%  (3) 30 af (4) 25 a4

The value of tan 1% tan 29 tan 3° ... tan 899 is :

tan 1% tan 2% tan 3% ... tan 89% T I ©

(1) 0 2 -1 (3) 1 (4) 2
If2A =3B =4CthenA:B:Cis:

{1) 2:3:4 (2) 49322

(3) 6:4:3 (4) none of these

AL 2A=3B=4C, A A:B:C & 0 &

(1) 2:3:4 (2) 4:3:2

(3) 6:4:3 (4) TAH q HE J&

'Panchatantra’, a collection of moral stories in Sanskrit, was authored
by

(1) Somadeva (2) Kautilya

(3} Narayan Pandit (4) Vishnu Sharma



22.

23.

24.

25.
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uum;, AEHA A § AT harell @ daar, ﬁ?ﬁ%mf;@
Tqr ?

(1) |m3g (2) ey

(3} ATqEy gfveq (4) faop erai

Who was the first recipient of Rajiv Gandhi Khel Ratna Award ?°
(1) Geet Sethi (2) Pullela Gopichand

(3) Vishwanathan Anand (4) Sachin Tendulkar

TS e B TSGR & e frSar @y o ?

(1) g |t (2) G TS

(3) MeasmeE sH= (4) wAfT dgemy

[n which mountain range is Siachin Glacier, the world's longest glamer,
located ? w8

(1) Himalayas (2} Karakoram (3) Hindu Kush (4) Tien Shan

fﬁﬂ;ﬁ;%ﬂﬂﬁ fava = qaq it ferdl, fr wda sreen &
o & 7
(1) fegem (2) ®EERRE  (3) fegme (4) f@Es s

In human body, Bile is produced by which organ ?

(1} Liver (2) Spleen {3) Pancreas (4) Stomach
A Y | fue s frmter e st ar fear s 2

(1) IgHd BT (2) witer s

(3) STTHIE BT (4) STHI &0

'My Music, My Life' and 'Raga Mala' books are the autobiographies of
which music maestro ?

(1) Zakir Hussain {2) Amjad Ali Khan
(3) Pt. Shiv Kumar Sharma (4) Pt. Ravishankar
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26.

27.

28.

M wgforer, A AtEE aur IFTEEn’ g R @i s
Bl T HyR E 7

(1) oSnfeT &8s (2) TSR 3TN @F

(3) Yo feragET emi (4) Yo IgeTHT

What is the approximate playing time of full version of ‘Jana Gana
Mana', the National Anthem of India ?

(1} 42 seconds {2) 52 seconds

(3) 62 seconds (4) 72 seconds

W A TR G g g D gof i & = J srpnfea
g fFaar aar & 7

(1) 428H"S  (2) 52TH98 (3) 62@BvS (4] 72 qdve

Who was the first Asian to be aworded Nobel Prize in Economics?

(1) Amartya Sen (2) 8. Chandra Shekhar

{3) Hargobind Khurana (4} Rabindra Nath Tagore
e § @ gam fea ol e @ gduan gem Ben
Ty ?

(1) 3Hs |9 (2) THo TEIET

(3) ETfE= g (4) Ve ATy MY

Which state of India has the maximum length of high ways in the
countries ?

(1) Madhya Pradesh (2) Uttar Pradesh

(3) Andhra Pradesh (4) Rajasthan

R & fhe g # 3w § waittes e @ oogy o7
(1) ¥ 9T (2) IET U=

(3) Y 9T (4) TSI

10



29.

30.

31.

32‘

33.
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Which is the latest state where High Court has been set up ?

(1) Uttar Pradesh (2} Madhya Pradesh

(3) Maharashtra {4) Uttarakhand
ﬁﬁ?Tﬁqi$Gﬁ@'ﬂ?Tﬁ'37iﬁquM'%Tﬁmvm'$Tﬂ?§??
(1) I TR (2) Ty TR (3) HERTE (4) IECEE

Who, among the following, is the lose country to join world trade
organization ?

(1) Sri Lanka (2) Bangladesh

(3) Russia (4) India

Frs & & e dar F fasg saa) &Tew & daer 7B R 7
(1) sii=r (2) FEmey  (3) Y (4) W

When working with document, it is temporarily stored in :
(1) RAM (2) ROM (3) CPU (4) ALU

el srRgHe R wE @Xd 99, Wm%ﬁmmﬁ
Il B § WX BT & 7

(1) ¥\ (2) M @) wH Y (4 TuEy

Binary equivalent of number 7 is :

Al we § oG 7 o S ® o
(1) 111 (2) 110 (3) 101 (4) 100

Which is not an operating system :

(1) Windows XP (2) Linux
(3) PASCAL {4) Unix
rfafaa & s ar stRfeT faeew w8 B
(1) frosts waaqdt (2) Frrerg
(3) UIhA (4) Ii+erg

11 P.T.0.
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34. Physical connection between Microprocessor Memory and other parts

1s called :
{1) Path (2) Hub
{3) Address bus (4) None of the above
wEMHET SRy o oy et @ REfvre weae weemr B
(1) 9 (2) &9
(3) UgEEH (4) SuderE § | F1g ad
35. Main storage is also called :
(1) Accumulator | (2} Control Unit
(3) Register Unit (4) Memory
HEF US98 o #Fed §
(1) THAER (2) @ gie
(3) WowT gie (4) AEM
36. In Internet technology which protocol has important role ?
(1) Internet Protocol (2) TCP/IP
(3) netscape (4) Internet surfing
geTe TS § few Mot a1 fiee weeet 2
(1) =@ U (2) gt serdd
(3) HEwRY (4) gEEe Gty
37. Binary language consists which numbers ?
(1} 1and?2 (2) !and |1
(3) Oand 1 (4) 1and 10
qETH W9 H BE-FE § dGC B 2 7
(1) 132 | 2) 1afr1
(3) 0 4) 13fv10

12
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38. Which of the following is main memory ?

39.

40,

(1} Hard Disk (2) Optical Disk
(3) Floppy Disk (4) RAM

s B B W gEd AEN § 7

(1) &8 fZwp (2) Sfffteer fewp
(3) wandt fewm (4) =
Information on a computer is stored as what ?

(1) Digital data (2) Analog data
(3) Word data (4) Excel data

U%H HYe ¥ gl frg = F g B ?

(1) TeRea =rer (2) UHATERT ETET
(3) g2 srer (4) TEFES BIET
Scanner scans

(1) Picture (2) Text

(3) Both Picture and text (4) Sound files
T A Bl ©

(1) e (2) THE

(3) MEmr iR e ol (4) HTIT HIga

13 P.T.O.
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Hindi Language
R=T wrar

Q. No. 41 to 50

41. “‘FHET AF 9T B, F FAN g¥ 97|
N 9@ 9 7 TE, 9 e i) -
m@ﬁmﬁﬁ@%aﬁmﬁmﬁwwmﬂﬁm:
(1) s (2) TUHT
(3) ®YEH (4) aHH

42. ‘HAT-HY MR- H IGYFIAH Ryeheq 20T

(1) 3HM-2Y (2) HET-HTT
(3) T~ (4) HATT-HweqT

43, ‘TTH T ¥ - T AR H T qgGIHT B O

(1) @SH 99 orar 8 (2) TTSH AT AT B
(3) TISEH g& T & | (4) EH ST B
44, “Rd A W wr ..., A9 B - 29 999 § e e § -
Lo st s SagE enm
(1) & (2) TRl
(3) =X (4) WY

45, ‘am’f%mamaﬂmmzﬁaﬁ%?
(1) =1 (2)
(3) ag (4) TS

14



46.

47.

48.

49,

50.
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“gU ga-TI-dr ST B/ R Rt #wv oL
gei e e & =g sfga 8o e
(1) &« M (2) 9ETE & f&a
(3) fore owm fomm (4) @rE AT R

(1) Ty (2) RS

(3) ST THR (4) HfrEReReT I

‘U |’ THAT 8

(1) s (2) Ferem

13) warRdl gut (4) AfeEHerT Ia
geTeT A B

(1) & fe (2) =% |fa

(3) faeet =y (4) o1
‘“Srareay’ ® W»% :

(1) egdife qHE (2) fag w9

(3) Z& 9HE (4) TATBT GAHHA

15 P.T.O,
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51.

S52.

53.

54,

55.

56.

87.

88.

59.

60.

Sanskrit Language
T&Ed IS
Q. No. 51 to 60
‘Pawar gaw fqerd By ?
(1) YoM (2) pASTN  (3) FHIaIAT (4) Ifgran
‘Freasgay:’ g ?
(1) wemRtq:  (2) e (3) Ty (4) ST

Regaifee arefraw: omera: fryg ?
(1) TR (2) "WEWREH (3) FOaW: 4) Iufwug

T Fg gfey ?

(1) =7 (2) == (3) 9y (4) =t

R J=AT7oreey fapnfeg ?

(1) FHva: (2) arg (3) FOTAR (4) et

ARy aviy &: Swaet: s 7

(1) "R (2) EF: (3) ®ERI: (4) WD

TR geqw & Qi ? |
(1) <wata: (2) el (@) ghewafe: @) o

SNAERY Ay orE g i |

(1) & 9 R’y (2) e 9= renfy

(3) © ud ferafy (4) wae 9= ferafy
Yo SRR AR s%m@ﬁwmmgﬁ% Hafy... 9_ |
(1) @y (2) &9

(3) afery (4) T

‘a7 Erﬁmrqm ...... et gfer arr Reereersra oftf: swafy

(1} %’THW (2) #HEmAn (3) HWEMEG: (4) HEHATY

16
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62.

63.

64.
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English Language

37FST  HIaT
Q. No. 61 to 70

Instructions :

Select from the four alternatives the word that means the opposite to
the given word :

Opaque :
(1) Redundant (2) Sundry
(3] Transparent (4) Muddy

Instructions :

Choose from the four alternatives the correct subbtltute for the

following expression :

A person who makes a study of insects :
(1) Entomologist (2) Philologist
(3) Biologist (4) Chemist

Directions (Q. Nos. 63-64) Select the word opposite in meaning to
the given word.

Extinct

(1) distinct (2) extreme
{3) alive (4} expressive

Tense

(1) Comfortabie {(2) relaxed

(3) easy (4) cosy

17 P.T.O.
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65.

66.

67.

68.

69.

70.

Directions : Select the word which has been wrongly spelt :

(1) plebean (2) plateau
(3) pledge (4) pilferage

Directions : Apply the correct article in the following sentences .

Mr. Basu has married ..... European wife.
(1) an (2) a
(3) the (4) no article required

Directions : Fill in the blanks with correct preposition :

He reached ...... Varanasi today.
(1) at (2) in
(3} to (4) none of these

Directions : Choose the option that does not belong to the group :

(l) The giraffe is a very majestic animal.

(2) Asia is fast throwing off its third world monld.

(3) The Bermuda Triangle is stil an unresolved stigma.
(4) Pacific ocean is a vast blue expanse.

Directions : {(Q. No. 69- 70) Identify the part having an error.

(1) of the (2) two sisters

(3) the elder is {4) the most religious
(1) The father as well as (2) The sons wen

(3) mysteriously missing (4} from the house

18 200
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ROUGH WORK
Th &

19 P.T.O.
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11,

12.
13,
14.

vfdal & fere o
(59 QiEAeT & T9% a0 g AT IAV-9F & 39 gt av Fae At a1 FIed
arer-wrse 97 78 fred)
T gfem fred & 10 e & o f 3w @ fR wver B uedt ge g § ok @Y v
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F gu g wE ol
T e A fernTer e waw-ug & Afafie, fown @ gy A o gen s @y § A
e
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YT A TA -0 FH R YW OIS W ¥ fiife R w g
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HoTAoSMe T W HFTFAE F0, Tqfes 90 3 ¥ dom (I ¢ @) au
AR T ARAS Ho 3R oTHosWo T Ho it wfafedi § suftdray & s 9
4

:mmﬁﬁﬁmwmmmﬁm'mmmmmm
YA ® WE e SR

¥¥ TV YiwT 5 40 TGS 7 10 g X9 §1 T aghie W & A dwfiae gav
ﬁ@wi;mm%mm%mmm-wﬁmdﬁs%mﬁﬁ#
T} g F I 0 & WA g6 W 52 78GRV & Irgur 47 § mEr O 1 Fd wre
egsTa Wl P ger @ Bg FW VT gt & o ¥ e ore wey gt &t xah &)
mm%m%mmwéqﬁaﬁwmwﬁwﬁqﬁﬁwmﬁwmm
TH g9 W Il WA W a I TeR A R

@ & f 0% AT R g Sfed IV aee T o wea qrig 3 &t wyT &1 I
787 471 AR & @ TRy ofFy & arrd R R A g = et ol 2 o8 gy ot
T 37 el wrd

T FT & T - % T & St AT 7% A - Qe & i v @ s
&l

wﬁm%msﬁwmm—wammgfﬁmwmmm#‘mmé’r

IR WA B R e S0 wa § A 9 @ st a

A i sradl vl # swfem WA @ wm e 2, @ v favafraed g fie G
Fa, Wl gmE



